
©  Playpower inc
hags@hags.com
www.hags.com

Rev: 1

20/11/19SW71638

Net Climb

91 /

Net Climb

CC



©  Playpower inc
hags@hags.com
www.hags.com

Rev: 1

20/11/19SW71638

Net Climb

92 /

kg kg

kg kg

kg kg

kg kg

kg kg

kg kg

kg kg

kg kg

kg kg

kg kg

kg kg

kg kg

x x

x x

x x

x x

x x

x x

x x

x x

x x

x x

x x

x x

1 SW71545 1 11.16

2 SW72998 Ø108,5 x 1904 mm3 18,63

3 SW71475 4 4.12

4 SW71678 2 0,15

5 SW39726 4 0.23

6 SW72900 5 0.18

7 SW73082 Ø108.5 x 2495 mm4 20,00

8 SW71692 5 0,37

9 8005537 Ø35x20 mm8 0.01

10 8042811 ISO7042-M12-82 0.018

11 8008834 Ø12,5x30x3 mm10 0,01

12 SW73289 2 0.72

13 8008425 ISO4014-M12x130-8.82 0.1317

14 8008421 ISO4014-M12x90-8.84 0.0961

15 SW69776 10 0.008

16 SW32648 5 0.87

17 SW73784 5 0.01

18 31-02551 M6, Ø26x14 mm10 0.006

19 SW60093 M6, Ø16x8 mm10 0.005

20 8008330 ISO4017-M6x20-8.85 0.0071

21 43-06413 40x17 mm5 0.01

22 SW72898 2 3.4

23 SW69911 5 0.02

24 SW33168 Ø21.4 x Ø11 x 4,7 mm20 0.005



©  Playpower inc
hags@hags.com
www.hags.com

Rev: 1

20/11/19SW71638

Net Climb

93 /

kg kg

kg kg

kg kg

kg kg

kg kg

kg kg

kg kg

kg kg

kg kg

kg kg

kg kg

kg kg

x x

x x

x x

x x

x x

x x

x x

x x

x x

x x

x x

x x

29 8008713 RXS B4x9.52 0.05

S18S17

X

S20 S19

x kg

kgx

25 8008646 TKFT-8x60-8.820 0.02

26 SW72899 5 0.14

27 8042809 ISO7042-M8-810 0.007

28 8008341 ISO4017-M8x20-8.810 0.0139

1                 5



©  Playpower inc
hags@hags.com
www.hags.com

Rev: 1

20/11/19SW71638

Net Climb

94 /

EN1176

FH

S6

 2,25m

 6,20m

4,
40

m

1,
50

m

2,00m

2,11m

1,
37

m



©  Playpower inc
hags@hags.com
www.hags.com

Rev: 1

20/11/19SW71638

Net Climb

95 /

 2
,2

4m
 

 0
.6

m
 

 >=0,40m 

 >
=0

,2
0m

 

 0.40m 

 0,35m 

 0,35m 

 0,30m 

 0,30m  0,40m 

 0
.9

9m
 

 0
.6

2m
 

 0
.6

2m
 

 1
,9

4m
 

 0
,2

9m
 

 0
,8

0m
 

5x



©  Playpower inc
hags@hags.com
www.hags.com

Rev: 1

20/11/19SW71638

Net Climb

96 /

x4
14

10
x2

x4
7 12

x2

x10
11

x2
13

x8
9

2x

 0,46m 
 1,27m 



©  Playpower inc
hags@hags.com
www.hags.com

Rev: 1

20/11/19SW71638

Net Climb

97 /

x4
3

x4
5

7
x4

x3
2

4
x2

S21

5



©  Playpower inc
hags@hags.com
www.hags.com

Rev: 1

20/11/19SW71638

Net Climb

98 /

x5
8

24
x20

25
x20

23
x5x10

15

1

5x

5x

S21

5

mm

S10

Ø4mm

260329



©  Playpower inc
hags@hags.com
www.hags.com

Rev: 1

20/11/19SW71638

Net Climb

99 /

x5
20

21
x5

16
x5

18
x10

x10
19

22
x2

x10
27

26
x5

28
x10

6
x5

16
x5

17
x5

5x5x

5x

S21

5-6


